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import random

N=14
M=5
L=2

def get row(column) :
col = []
for i in range(0, column):
col. append (random. randint (0, 9))

return col

def get matrix(row, column):
matrix = []
for i in range(0, row):

matrix. append(get row(column))

return matrix

def print matrix(matrix):

i=0
while i < len(matrix):
J=0

row = matrix[i]
while j < len(row):
column = rowlj]

print (column, end=" )
j =1

print ()

i 4= 1

A = get matrix(N, M)
print ("HiBE? SRIEM?)

print matrix(A)

1 row = A[L - 1]. copy()

i=0
while i < len(A):
j=20

while j < len(A[i]):
Ali][3] += 1_row[j]
jt=1

i+=1

print ("SEIGMIRMHZE  SRiEH?")
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print matrix(A)
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